
EEI-6243
V1.04.03.23



30

Wait!

PAGE 2 0F 5

1

3

5

2

4

x1

x16Flat Washer M6    

D

x4Bolt M6 x 20mm           A

C

Allen Wrench

x12Bolt M6 x 40mm           B

5

6
6

Le� Armrest

Backseat

Base

x1

x1

x1

1

2

3

Bottom Support

Back Cushion

x1

x2

4

5

Seat Cushion x26



Step 2

     

     

     

     

     

2

3

Backrest

Base

x1

x1

B x5Bolt M6 x 40mm        

Flat Washer M6

D x1

C x5

Allen Wrench

PAGE 3 0F 5

3

90%

     

     

     

     

     

1

2

Le� Armrest

Backrest

x1

x1

3 Base x1

2

D

B
C

90%

B x7Bolt M6 x 40mm        

Flat Washer M6

D x1

C x7

Allen Wrench 1

2

3

D

B

C



Step 3

PAGE 4 0F 5

NOTE: Fully tighten all bolts.
100%

     

     

     

     

     

2

4

Backrest

Bottom Support

x1

x1

A x4Bolt M6 x 20mm        

Flat Washer M6

D x1

C x4

Allen Wrench

Step 4
     

     

     

     

     

5 Back Cushion x2

D

A
C

2

4

4

2

6 Seat Cushion x2

5 5

6

6

Notes: If there is un-stable, it may be 
caused by an uneven floor, which can 
be adjusted by Leveller.



Your le� arm loveseat is complete and ready to enjoy.

PAGE 5 0F 5


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5

